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200 m == o gt w9 & 36 km/hr i fBR R w, Teh R = & 8, a1 m/s” | (at) T @ o
T T (an) 2

A car travelling at a constant speed of 36 km/hr in a circular path of radius 200 m, then normal
acceleration (an) and tangential acceleration (at) in m/s® is given by

(@ an=0,at=0 (b) an=0, at=0.5m/s
(¢) an=0.5m/s% at=0 (d) an=0,at=6.5m/s>
o 9 o . fi wromreft < fore wage e @

For the spring system given in figure, the equivalent stiffness is

K K
K
K
F
@ 04K b) 4K
(© 25K @ K

ThEER et 7 3T, Th 30 cm W 3T WR A SR el e 2 T A §, R & 20 cm 9, AW
TS Il STl & 37 gE A, B 3 el SR T an oire Sier S &1 werd o it af

An elastic rod, 30 cm long, of negligible weight hangs downwards from a support. In one case load
is applied on rod 20 cm below the support and in the other case the same load is applied at bottom
of rod. The reactions at supports will be

(@) YoM AW § R / More in first case

(b) 3 waE # ¥9H / Same in both the cases
(c) Ted™rwmet & 31ftes / More in second case
(d) ?ﬂﬂﬁ T35 T / None of the above

3 721 TA(ME)




T 3 T, 6kN-m 3 s aryot 3 8kN-m % 5 waﬁwwmuﬁﬁvmwm% 3Tehel TG,
ST T e e e for SR ST R Eehd1 @

A solid shaft can resist a bending moment of 6kN-m and a torque of 8kN-m applied together.
The maximum torque that the shaft can resist when applied alone is

(@) 10kN-m (b) 14 kN-m
(c) 7kN-m (d 5kN-m

Led | Rt o1 i U Tag T T € fere o - p = 0.1 2| fomr 1 fa@m T 3gEY 36 T 0.8N 1 s
ST ST & | =2t # oo et B

A 1 kg block is resting on a surface with coefficient of friction, p = 0.1. A force of 0.8N is applied
to the block as shown in figure. The friction force in Newton is

08N | 1kg

N NS NN N

(@ O : (b) 0.98
() 12 (d 08

S92 mE SR, 0.5 kKN/m % v Tt BT 500 N =51 W e 2, & v froee 8, st siftehan
forare T BT?

When a weight of 500 N falls on a spring of stiffness 0.5kN/m from a height of 2 m. What is the
maximum deflection caused in first fall?

@ 2m (b) 4m
) 1m (d 0.63m
| ]' ydy dx FTAA TR
00
The value of ”“ydy dx
00
@ = ® 1
4 3
- 3 @ 7
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£ 1.1 0 1
010 -1 0
s fauie (feafim=) 2|0 0 2 1 0
00 0 <1 2
00 o 0 -3
b4 1 1 o 17
010 -1 0
The determinant of matrix ([0 0 2 1 0
008 =1 2
0 0 0 0 -3
(@ 8 (b) 24
(© 0 @ 3

afd mx n Afdsw A W 6 AB 3R BA 3 wftifia @, d1 B —— sk o Afma R

If A is mx n matrix such that AB & BA both are defined, then B is a matrix of order

(a) nxn (b) mxm

() mxn @ nxm

I_
COSX Srumt

lim -
X-0 xsinx
Vo o ey 2= 905X o
X-0 xsin x
@ o0 b) =
1
- d 1
(© ~ (d
I 5 cot @=12 2, A cosec O+ sec & HITH % e BT
If 5 cot @ =12, the value of cosec 8 +sec @ is close to
(@ 3.68 (b) 248
(c) 6.28 (d 5.38
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12.

13.

14.

15.

16.

lim [l— : ) HIHAM 2

x>0\ x sinx
Value of lim [l—-—l—]
X-0\ x sInx
(a -1 (b) 1
(c)y O (dy =

2s5in15° cos15° CAREIC R
Value of 2sin15° cos15°

1 5
(a) > (b) 5
© 1 @ 71;

Ify ¥ = ¢ sinx 2, @l Fefafea d @ wa @ T TR HE &7
If ¥ = e* sin x , then which of the following differential equation holds true?

d’y dy d’y _,dy
+—+y=0 b) —-2—+2y=0
@ —F+ Y ® T
d’y _dy d’y
0 R g 422 P ay-0
© —Z7 4t U e
AT Arrehe 118 e T T 2
Open cycle gas turbine works on
(a) UReEA|EEa / Ericsson cycle (b) YT EEE / Rankine cycle
(c) wHeEmsa / Carnot cycle (d) SIFEEEA / Brayton cycle

e ATy e, 3t W arsd &t Yot & 10 bar 2| frsTeft @ 3 bar & 1 bar @e W o s 2| Fepr
q |

In steam nozzle, the inlet pressure of superheated steam is 10 bar. The exit pressure is decreased
from 3 bar to 1 bar. The discharge rate will

(a) T@RWM /Remain constant
(b) @t /Decrease
(c) ererset / Increase slightly

) mmm,q‘m%aﬁmmmﬁﬁwanmﬁﬁ%/

Increase or decrease depending on whether nozzle is convergent or divergent

6 721 TA(ME)



17

18.

19.

20.

21.

aia(é@)m%ﬁ,mﬁmﬁmﬁwﬁmﬁﬁémm%aﬁaww“%
I 2|

For a closed system, the difference between the heat added to the system and the work done by the
system is equal to

(a) gof e (Tredt) / Enthalpy (b)  3cHH-AM (TFY) / Entropy
(c) dHHH / Temperature (d) @afe S / Internal Energy

Tk AT T TS H, TR T o frdter 3 3 sian o R 0 T e s & S sas

Considering the variation of static pressure and absolute velocity in an impulse steam turbine,
across one row of moving blades

(a) <& SRATIH geaT? / Both pressure and velocity decreases

(b) <= fER MR, &% AT IR / Pressure remains constant, while velocity decreases
(c) =& EdT SR AT SGAI § / Pressure decreases while velocity increases

(d) = feR T&an @ STeifeh ST /@A ® / Pressure remains constant while velocity increases

R TH Al 10 m TS, ST & 8 m S o Rereeht o T 2, o it 3 s ok e S s ¥ e
S

If a ladder of 10 m long reaches a window 8 m above the ground, then the distance of the foot of the
ladder from the base of the wall is

(a) 18m (b) 8m

(©) 4m (d 6m

HIHSH (32U) x/cos® x HTHM & T R

The value of integral x/cos” x is equal to

(a) xtanx (b) xtan x + log cos x
(c) logcosx (d) xtan x—log cos x

Bar ‘A’ %, ¥ Aiger 3R St Setra 1otk qon e, bar B’ 11| Bar ‘A’ 8 Seq9 G 3 ebrerat
bar ‘B’ # Seqs T %1 5791l 1 €, AR ST bar s AT, U O 4 sy féa e (S ok frfia)
The length, Young’s modulus and coefficient of thermal expansion of bar ‘A’ are twice that of bar
‘B’. What will be the ratio of stress developed in bar ‘A’ to that in ‘B’ if the temperature of both bar
is increased by same amount (both ends are constrained).

(@ 2 (b) 8

© 4 (d 16
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22.

23.

24.

25.

26.

@mmrﬁwaﬁmmmaﬁwqmwﬁaamm@a%aﬂwﬁmo MPa 2| afs IR =48
ﬁ@mmﬁmmﬁwmﬂgﬁ ST el IAfRehaw ST Wicrere €l

Maximum shear stress developed on the surface of solid circular shaft under pure torsion is
400 MPa. If shaft diameter is doubled, then the maximum shear stress developed corresponding to
the same torque will be

(2) 200 Mpa (b) 1600 MPa
(¢) 100 Mpa (d) 50MPa

& 20mm x 20 mm 1 STIEI-FTE % Tied 308 W 200 KN 31 aTafier edied SR Sl STl 81 3t ave wh
< 1 m 2 31 E =100 GPa &, 7 ave &1 diefferwor (eiem) &

A steel bar of 20mm x 20 mm square cross-section is subjected to an axial compressive load of
200 kN. If the length of the bar is 1 m and E =100 GPa, the elongation of the bar will be

(a 0.2mm (b) Smm

(c) 2.5mm (d 0.5mm

T 20 mm S %1 36 JATRR V€, 1570 Nim a1 srermepst & e 21 31frenaw Sca STIEqUT Ffderet 1
CIEETER

A solid circular shaft of 20 mm diameter transmits a torque of 1570 Nm. The value of maximum
shear stress developed is nearly

(a) 1000 Mpa (b) 20 MPa
(¢) 50GPa @ 20GPa
o1meng Vet e 1 BT =Ry

Shock resisting steels should have
(a) T fermd witdier / low wear resistance  (b) =1 e / low hardness
(c) P wRE / low tensile strength (d) T®IE /toughness

=18 e Faft s sw A =T UdT @A § BT 2

Dye penetrant method is generally used to locate

(a) HRFRAT / core defects
(b) FaRIFfeAT / surface defects

(c) YwithRere FfeAt / superficial defects

(d) oS FRAT / temporary defects

8 721 TA(ME)



217.

28.

29.

30.

31.

32.

Teh BTS T <hl a1 ¥ T yard Y a=gar

The ductility of a material with work hardening

(a) wgdi® /increases (b) uwifed @t ® / remains unaffected
() w=® /decreases (d) ewRTHE STl / unpredictable
SATeT-ahTei i gefaesn wfafsra W E 2

Eutectic reaction of Iron-Carbon occurs at

(a) 527°C (B) T23%C

(c) 1493°C (d) 1147°C

10 cm Toree % urgq § &, Tt & ot ferehfre weefta s (gaiiies faehiftidt 0.001 Pa-s) % fru, s1afia qam

UfEuz & —10 Pa/m 31fahan a7 (m/s H) 1 RHT 3

For a fully developed laminar flow of water (dynamic viscosity 0.001 Pa-s) through a pipe of radius
10 cm, the axial pressure gradient is —10 Pa/m. The magnitude of maximum velocity (in m/s) is

(a) 25 (b) 50
) 75 (d 100
Toreft vt yared <t vamar % R B B

The viscosity in a fluid is caused mainly by

(a) wafth 1 7= MU ot / intermolecular force of cohesion
(b)  3MfUSe: Ham T ARE-T2H / molecular momentum exchange
(c) (a) 3 (b)SHT / both (a) and (b)

(d) SWHEHYASET / none of the above

et ot s 52, T[0T o ST MATHR S 2
Falling drops of water becomes sphere due to the property of

(a) EdstaEE / surface tension (b) SESH / adhesion
(c) &sH /cohesion (d) s / viscosity

R TR B % T, ST % T T W Faird S % T B
(A : =81 1 &3, m : el aif)

Hydraulic diameter used in place of diameter for a non-circular duct is equal to
(A : area of flow, m : wetted perimeter)

(@& A/m (b) 4A/m
(©) A/4m @ 4m/A

9 721 TA(ME)



33,

34.

35.

36.

37.

9T H U] W SEd 9% o @ 59 UEerdT 2, 1 9§ a6 R

When a block of ice floating on water in a container melts, the level of water in the container
(a) weaT® /rises

(b) Trarg /falls

(c) e Frar? fe3aar® / first falls then rises

(d) TWAwA? /remains same

e # Pfeam F et & yRomresy #gur g e

Addition of Vanadium to steel results in improvement of

(@) 3R / Hardenability

(b) sfgEmed / Fatigue Strength

(c) wf=m g FY=R / Heat treatability by quenching

(d) ¥ AHE YT ATRISIH HI Sif?lﬂﬁ / Resistance to oxidation at elevated temperature

g e A AR e il Niawwd €

Maximum carbon percentage in mild steel is

(@ 0.1 (b) 08

(c) 04 (d 0.6

Wi o AeiiEar § ghe o fore Fraforftaa & @ form aoar/ Siiei 1 et wmEei # sirer simar 27

Small amounts of which of the following elements/pairs is added to steel to increase its

machinability

(a) TwRa /Nickel (b) TR IR BIEHRE / Sulphur and phosphorus
(c) Tafe=ta / Silicon (d) S Sl / Manganese and copper
T o AfET & I= T seiagi i, Ao W R, T SUNT A hi-sel TohAT ST 2|
High speed electron of Electron Beam Welding is focused on the weld spot using

(a) TEf@®== /vacuum lens (b) AT | A=A / Inert gas lens

(c) ey @4 / optical lens (d) ﬂﬁiﬁq?ﬂ? / magnetic lens

10 721 TA(ME)



38.

39.

40.

41.

42.

Tl 1 gars 1 foret o6 3w g 8

Chills are used in casting moulds to

(a) Teumews SrfieRtoT W A # / Achieve directional solidification

(b) sl g il G FA FA H / Reduce possibility of blow holes

(c) SHAFEHIHRFEHHA / Reduce freezing time

(d) i< i Hae I fusree #T 9@ & / Increase smoothness of casting surface

RISt S 8, ST fohar s 2

In forging operation, fullering is done to

(a) UeTd I 3THE A o ToTT / upset the material

(b) waTY I SR T % fTT / bend the material

(c) verd =i smeTEleA % fIT / draw out the material
(d) et % 9fgdem & fIT / extrude the material

T A Tt o1 gt 37 ) Yawg e sifshand & o o8 e §

A cycle consisting of two isothermal and two isentropic process is known as
(a) wefeln@me / Stirling cycle (b) wHeHRSA / Carnot cycle
(c) uiews dEa / Ericsson cycle (d) SgFTHEHA / Joule cycle

Tferfiaa & & -3, e yomeh =i e o 27

Which of the following is an intensive property of a system?

(a) <19 /Pressure (b) S=HH /Mass
(c) wiF= /Enthalpy (d) 3G / Volume
UM ATehad 3T SR aT9HH & fae

For the same maximum pressure and temperature

(a) Sive R U ATeF Tam e aEFa & /
Otto cycle is more efficient than diesel cycle
(b) el 3R vt T & ik vem gua aeEa & /
Dual cycle is more efficient than otto and diesel cycle
(c) g awha ¥ iftrs gam divie aFa ® /

Diesel cycle is more efficient than otto cycle

(d) et aEEe 3R e Aol ¥ U U S e  /

Dual cycle is less efficient than otto and diesel cycle

11
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43.

44.

45.

46.

—10°Cm%qaﬁa%%5@v€ﬁ%ﬁﬁﬁ%mm%aﬁt 100°meﬁqﬁaﬁaﬁmm%\ﬁﬂ%®ﬂﬁ%
< T 9 9 T ) TR Bl e T 87

A block of ice at —10°C is slowly heated and converted to steam at 100°C. Which of the following
curves represent the phenomena qualitatively?

o
=
o]
@ ®) 5
Heat Supplied :
) Heat Supplied
g
5 &
=
© @ .
Heat Supplied Heat Supplied

See =i i o ata o e 61 S (e FerE) ®

Paddle wheel work and expansion of gas into vacuum (free expansion) is a
(a) 318 e A / Quasi equilibrium process

(b) e fRr R / Quasi static process

(c) wurgadiufsear / Isotropic process

(d) dregen i / Non-equilibrium process

ézsﬁﬁﬁ,a@mﬁﬁ%aam%g,imﬁ STATaTOT A ST S B |
In jet engines, for efficient production of large power, fuel is burnt in an atmosphere of '
(a) frafa / Vacuum (b) aRmveEary / Atmospheric air
(c) wwffsaarg / Compressed air (d) = S / Oxygen alone
ek et o T fa
The specific speed of a turbine is given by
NP N
@@ —— (b) *—J;Q
H* H*
N NP
(©) —@ @ —
3 H* H*
12 721 TA(ME)




47.

48.

49.

e T2 (4) =0.02 3 T 200 mm = &iférst wrge & & et s B & | v bl €S 50 n 2 3T

ST S &t 0.3 14 m’/s | snfor 3 wwor re # ¥ & (g =10 m/s) R

0il flows through a 200 mm diameter horizontal pipe with friction factor (4f) =0.02. The length of

the pipe is 50 m and volumetric flow rate is 0.314 m>/s. The head loss in the pipe due to friction is

(g =10 m/s%)
(a) 50m (b 25m
() 100m (d S5m

I 50 mm =3 Foos & T ate e eerdn 2, a8 i et W 40 mm S & T 3Hb TFTH H
TR BRI
If a fluid jet discharging from a 50 mm diameter orifice has a 40 mm diameter at its vena contracta

then its coefficient of contraction will be

(@) 0.80 (b) 0.90
(¢) 125 (d) 0.64

7% 500 mm =R Y R a15T TR e e &1 A’ T # gar 100 kPa ® (37 : 10 m) AFH

‘B qraamE 75 kPa (369 : 12 m) 33 4 m/s ) Frfafaa § & s-wnadt 87 (g = 10rh/s?)

A smooth pipe of diameter 500 mm carries water. The pressure in the pipe at Section ‘A’
(elevation: 10 m) is 100 kPa. At section ‘B’ (elevation: 12 m) the pressure is 75 kPa and velocity is

4 m/s. Which of the following is true (g =10m/s’)

(a) A¥BTHIER sfree @fd 1 m? /Flow from A to B and head loss is 1 m

(b) AQBTE VRIS HN0.5m? /Flow from A to B and head loss is 0.5 m
(c) BAATHYaRMITaf0.5me /Flow from B to A and head loss is 0.5 m

(d). B¥ A vare 3 Re &ff 0.75 m® / Flow from B to A and head loss is 0.75 m

13 721 TAME)



50.

51.

52.

33

@éﬁﬁﬁﬁﬂ%ﬁ%%%?@@ﬁﬁmmm%ﬂw%lW%&mm?ﬂ%ﬁwwo.sﬁ
SR AT e 2T 55 cm & St (fom # e 2) afe T4 argHveety el 96 kPa B, A1 Shr
e s T 87

A manometer is used to measure the pressure of a gas in a tank. The fluid used has a specific
gravity of 0.85, and the manometer column height is 55 cm, as shown in figure. If the local
atmospheric pressure is 96 kPa, what is the absolute pressure in the tank?

Pat]'n = 96kpa

(a) 4.6kPa (b) 98.6kPa
(c) 100.6 kPa (d) 200.6 kPa

ek Tt o et are foreer saime &% Q 2, 39k 38 1 afel, H wr siran 21 4R s gt s 3 e
Trerehl TT s 2 g 38 2Q waTe o e T e & < e wfy @h

The loss of head in a pipe of certain length carrying a flow rate Q is found to be H. If a pipe of
twice the diameter but the same length is to carry a flow rate of 2Q the head loss will be

H H
(@) 3 (b) 5
© 2 @ H

TH200 rpm TS a3 99 & 37 Iwht rftrehan &mar W, 60 I/min 3 YaTE SR 30 m ¥ a2 AR
99 Y 71fd <kt 400 rpm @ w@T e S, Y, Ao d &g, H 39k w@m@ € Vmin 3 Q W sifrsmaw arwar anft
A centrifugal pump running at 200 rpm and at its maximum efficiency is delivering a head of 30 m

at a flow rate of 60 I/min. If the speed of the pump is increased to 400 rpm, then head H in meters
and flow rate Q in I/min at maximum efficiency is

(a H=60,Q=120 (b) H=120,Q=120
(¢) H=120, Q=240 (d H=60,Q=240
et s 1 3T H A T

Pitot tube is used for the measurement of

(@) o /velocity (b) <& /pressure

(c) wa= /flow (d) W4T / viscocity

14 721 TAME)



54.

a0

56.

7.

58.

mﬁ%mnmn%EEmﬁﬁgmza@aﬂmﬁh T Heg AT 2|
The use of draft tube in a reaction type turbine helps to

(a)
(b)
(©)
(d)

a1g o o1 %l sk & To1T / prevent air from entering

TTicrst et ot aTe St § TRl 0 % RIT / covert the kinetic energy to pressure energy
oETE & H! F¢H % TTU / increase flow rate

STIETE U %I e 0 % FTU / eliminate eddies in the downstream

STUFAT T T TR TS I Fopar S 2
Centrifugal pumps when arranged in parallel

(a)
(b)
(©)
(@

A TG B ST § / Increase the discharge only

119 Ud 7€ §H1 sl si@Tan § / Increase both the discharge and head

el 88 i 9gIT ® / Increase the head only

& I ST & W 58T hl HeTAT ® / Increase the head but decrease the discharge

HIE 3~ A St & 0.5 2 [ 5w 1 v (ﬁﬁ)ﬁmm%mma’rmﬁﬁa(ﬁﬁ)sﬁr

COP 71 7

The thermal efficiency of Carnot engine is 0.5. If the engine is operated as refri gerator what is COP
of refrigerator?

(@ 0.5 (b) 0.75

& 2 @ 1

@ﬁ@ﬁwﬁﬁwwﬁqmﬁmﬂ%@(o—vﬁm)mwmﬁ

A “block’ of information in a Numerical Control machine program means

(a)
(®)
(©)
(d)

9 T FAR / one row on tape
& i o, 29 W FAR L / a work comprising several rows on tape

T U1 31321 / one complete instruction
Th SiTst o fore qof i / one complete program for a job

T 3% Weftash § 87 =i
A good refrigerant should have

(@)
(®)
(©)

(d)

AT Y 3= T S 39 e fRmis / High latent heat of vaporisation and low freezing point
3= J=1eH g1 3R e femiss / High operating pressure and low freezing point

3 fafdte e st amdisso 3= W / High specific volume and high latent heat of
vaporisation
o1 Forsareet qorten st Fot i / Low coefficient of performance and low freezing point

15 721 TA(ME)



52,

60.

61.

62.

63.

64.

T i fives T qvg S o e 3 sreliehr g e 750 kW SR 1000 kW 2 | afe e g 30°C
37 15°C % sfter S| e & | e 9V o fore COP @

The rate of heat addition and rejection in a ing:lustrial heat pump is 750 kW and 1000 kW
respectively. If the heat pump operates between 30 C and 15 C. The COP for heat pump is

(a) 3 (b)y 4

(¢) 6.5 @ 73

I e AT T T ) Tk Wehifer & COP 4 %7 21 21 3fR e, 3501 g <hi ot il ohi 31T
1 kKW @d 3l €, d St g9 geft

A refrigerator working on a reversed Camot cycle has a COP of 4. If it works as a heat pump and
consumes 1 kW, the heating effect will be

(a) 1kW (b) 4kW
) S5kw , d 6kW

SR & wefifos o ate ST A % WEeEqy o 8

The significant advantage of using Ammonia as a refrigerant is

(a) i@ R / Characteristic order  (b) 3= W T / High latent heat

(c) famm@n / Solubility (d) saeHsfieEr / Inflammability
forega wmafaes wefifim ECM & wardl a1 ket E U

In ECM (Electro Chemical Machining) the material removal is due to

(a) 3 fe=uH / Jon displacement (b) ®&W / Corrosion

(c) =79&r / Erosion (d) @@= /Fusion

TSR 1 SUART, &Id: FH HT 2

The use of fixtures mainly reduces

(a) ohoel J=ITe i / only operation time

(b) @@ /tooling cost

() aaAfFTEET / only setting time

(d) &fén 3t gmrerea a1 / both setting and operation time

HeaTeash e yureht % foig & forg weer A

In a point to point type of Numerical Control system

(a) haer g i feufr 1 Freisor 7w 8 / control of only position of tool is sufficient

(b) et gt o am o FFA wEiE @ / control of only velocity of tool is sufficient

(c) et i Fefas ofie 3 st i stmae / control of position and velocity of tool is essential
(d) R i & 3 ot oo e ® / Neither position nor velocity need to be controlled

16 _ 721 TA(ME)




65.

66.

67.

68.

69.

A A% (7) AR Hfa (V) F A= ey g V1 = (@i s asa #, n 99 amania g

The relation between tool life (7) and cutting speed (¥) is V7" = Constant. In this relation, the value
of n depends upon

(a) AW / work material

(b) TAEMA /tool material

(c) = er@Edr / working conditions

(d) 3c9=a U ¥HR / type of chip produced

U fhe a5 fore, s oY faes ot BT AT B

In order to have an interference fit, it is essential that lower limit of the shaft should be
(@) BIH F A F7 / lesser than the upper limit of the hole

(b) Dt = T @ 31feek / greater than the lower limit of the hole

(c) BeHTAdmIAFA / lesser than lower limit of the hole

(d) B3 @ 1R / greater than the upper limit of the hole

freze =1é &1 ST S @
Gantt chart is used for

(a) a1 == / inventory control

(b) |rEA @A / material handling

(c) Icured wHa |Iivft / production schedule

(d) =it qved w9 @il / machine repair schedules

S s AR Feor & G gfva e

Routing in production planning and control refers to the

(a) WA 9IRS EgeH / balancing of load on machines

(b) TR STHETRt T T MR / authorisation of work to be performed
(c) TRImesHmAwIfa / progress of work performed

(d) TR T FW HFA / sequence of operation to be performed

30 505 mm o SR % -1 31X 30"0% mm % 316N % 3T & st Srwselt 6 1e, Siireran sexfeie
(&) mm # &

The maximum interference in mm after assembly between a bush of size 30*%% mm and shaft of
size 3075, mm is

(@ 0.07 (b) 0.05

© 0.02 (d 0.01
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70.

71.

72.

73.

74.

o

HenrHiet § e o foar sirar @

A ratchet screw in micrometer is provided to

(a) =79 e fifé ot fen s % 1T/ lock the reading measured

(b) e X R gama ¢ WA % T / maintain constant pressure on the job
(c) % <t gfeai o forma e o T / prevent wearing of screw threads

(d) < wwREISH s1gAfd % foe / allow zero adjustment

I o T o o e T g SR it wenfia o et U sl e

The torque that can be transmitted safely by the spur gear tooth at zero pitch line velocity is
known as

(a) o7tHd sl / Average torque (b)  3tféehan S@TEU / maximum torque
(¢) —IFa| s@EY / minimum torque (d) wferTs@mEE / stalling torque

T 10 mm o T St} AT % ot fewsh Rrmeh Bsem 100 mm o s=mm 10 kg 8, 36 3990 weirgdia Y
ate T siman 21 3 9 600 rpm W et gueht R, A 39 wengdter Y nfs st 21

A circular disc of uniform thickness 10 mm, radius 100 mm and mass 10 kg is used as a flywheel.
If it rotates at 600 rpm the kinetic energy of flywheel is

a) 98.707 (b) 49357
(c) 24.677J d) 197.397]

Toret o =m “d” STk o < e wE T o o TR, e & gefter e og s oo @
In a gear with pitch circle diameter ‘d” and total number of teeth “T°, the circular pitch of gear is
defined as

d nd
(a) ; (b) ?
T zT
() i (d) Vi

990 kN 3 31ferehc eits & 1ger fafeiet T ge e o R =ieita siteet @ g 21 af siee 1 amh &
fore fesmea ®29 330 N/mm? 2, 9t v siiee =1 =g frar 27

Forty bolts are to be selected for fixing the cover plate of a cylinder subjected to a maximum load of
990 kN. If the design stress for bolt material is 330 N/mm?, what is the diameter of each bolt?

(@ 9.8mm (b) 4.9mm
() 23.9mm (d) 30.90 mm

Toh A T i WM A STgH arel St Gvaa: T 8 gehel!

A key connecting a flange coupling to shaft is likely to fail in

(@) 2REA /Torsion (b) =W /Tension
(c) 3fR/ Shear (d) &% /Bending
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